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1. A fairy tale is a serious story with a human hero and a
happy ending. 2. The hero in a fairy tale is different from the
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hero in a tragedy in that his progression is from bad to good for-
tune, rather than the reverse. 3.1In the Greek tragedy “QOedipus
Rex”, for example, the hero goes from highest fortune to lowest
misery. 4. The hero in a fairy tale usually has a miserable begin-
ning. 5. He is either socially unimportant or looked down upon as
being stupid and lacking in heroic virtues. 6.But in the end, he
has surprised everyone by demonstrating his courage, conse-
quently winning fame, riches, and love. 7. We clearly see this
bad-to-good-fortune progress in stories like “Cinderella” and
“Sleeping Beauty”.

EBIPRE—-FEREENERE, TXEAREMSLANa
fairy tale, (B8 —. =5 iEHWE T M, Xt a fairy tale fil a
tragedy i 7 3H B LA LB X AR A0 a fairy tale B
AERHEE, NOZMER. BREHMERENRN:

A fairy tale is a serious story with a human hero and a happy
ending. The hero in a fairy tale usually has a miserable begin-
ning. He is either socially unimportant or looked down upon as
being stupid and lacking in heroic virtues. But in the end, hé has
surprised everyone by demonstrating his courage, consequently
winning fame, riches, and love. We clearly see this bad-to-good-
fortune progress in stories like “Cinderella” and “ Sleeping

Beauty”.

T it Exercises 1 & 2,
. BERIERY (Coherence)
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1.In less than three years, the farm had gone to pieces.
2. All the windows had beenn broken out of the big twd-story
farmhouse. 3.1n front of the house, the grass was about three
feet tall. 4. There were no more horses to ride or cows to milk or
pigs to be fed. 5. My grandmother’s farm has a lot of enjoyable’
memories for me, after she died, Ileft home to join the army and
when I returned, 1 was disappointed at the changes that had ta-
ken place. 6. Paint was peeling (fii 7% ) off the house and the porch
roof was sagging (R #). 7. Lively as the place had been before -
my grandmother died. it seemed to have died with her now.
8. This farm has once been lively with the noise of a tractor
plowing the land and a dog barking whenever someone came up
to the house.

Lmix—EREFNE D TREZP L AR AR O,
H FX e s) TR ARG A ZRITHES . 3E R X
RV CENE. MRHERAFRATES 1 -2 6-3-4
8 7 HYSC MUY R, AT AR AN i BT IR A S0

My grandmother’s farm has a lot of enjoyable memories for
me, but after she died, I left home to join the army and when 1
returned, 1 was disappointed at the changes that had taken
place. In less than three years, the farm had gone to pieces. All
the windows had been broken out of the big two-story farm-
house. Paint was peeling off the house and the porch roof was
sagging. In front of the house, the grass was about three feet
tall. There were no more horses to ride or cows to milk or pigs

to be fed. This farm had once been lively with the noise of a trac-
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tor plowing the land and a dog barking whenever someone came
up to the house. Lively as the place had been before my grand-
mother died, it seemed to have died with her now.
ATBE DV HEWN BAHREBIEE R — S AK Tk,
15 fit Exercise 3,

=. B TE¥Y (Completeness)

R REEM R N R ST MR, SRS
k. — PR THEMAREHTHHARERATEN. Fl.
The tape recorder is useful in many ways. We can use it for

many purposes and we need it for many activities.

F-ER T, HTF OGP R4 R U B BR
PR ARG 4. B REAAFRMNEFEL S —H
MEE. FHit, ZBEEAE LTZHITY, ARfERENP TH#
R P T R -

BHREESE LR, BOHIRME AR A ok R
FEREE-. EHE T

The tape recorder is useful in many ways. Through the ma-

chine, we can listen to music and enjoy ourselves when we are
alone. When we hold a dancing party, the tape recorder is surely
the best choice since a band is always expensive. We can also
record our words and send the tape to our relative and.friends.
For us students, the most important use of a tape recorder is
that it helps us practise speaking and listening when we are
learning a foreign language.

F—m) (RIS AERBH L. F3C—3E50% 7 A4
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Exercise 1 : Unity
Compare the following paragraphs on “Surviving Cancer” and de-
cide which one has good unity and which one has poor unity.

1. Progress is gradually being made in the fight against can-
cer. In the early 1900s, few cancer patients had any hope of-
long-term survival. In the 19303 , less than one in five cancer vic-
tims lived more than five years. In the 1950s, the ratio is one in
four. Currently the ratio is down to one in three. The gain from
one in four to one in three represents about 58 000 lives saved
~each year.
| 2. Progress is gradually being made in the fight against can-
cer. In the 1900s, few cancer patients had any hope of long-
term survival. But because of advances in medical technology,
progress has been made so that currently one in three cancer pa-
tients survives. It has been proved that smoking is a direct cause
of lung cancer. However, the battle has not yet been won. Al-
though cures for some forms of cancer have been discovered,
other forms of cancer are still increasing. Heart disease is also

increasing.

Exercise 2 : Unity
Underline the sentence that is not related to the main idea of each
paragraph. "

1. Tourism is the state of Hawaii’s leading industry. Every
year, some 3.2 million tourists visit the islands. During the po-
pular winter months, a planeload or shipload of tourists arrives

every fifteen minutes. New hotels, new resorts, and new restau-
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rants are being built every year to accommodate the increasing
numbers of visitors. Sugar cane and pineapples are also impor-
tant industries in Hawail.

2. The convenience and economy of small cars account for
their popularity. They are easy to park quickly and take smaller
parking spaces. Small cars are also a means of Conserviné energy
because they use less gas than big cars. Small cars are inconve-
nient and uncomfortable on long trips, however, because of their
limited passenger and trunk (§7Z=§§) space. They are also eco-
nomical to operate and maintain, and they cost less. Because of
all these advantages, the next car I buy is going to be a small
one. |

3. The rapid increase in crime in Chicago is causing a great
deal of concern to the city’s citizens. People are afraid to go out
into the streets at night because they are airaid of being robbed
or even killed. More and more families are moving out of the city
into the suburbs because of the high crime rate. The chief of po-
lice was fired last month because of his inability to reduce crime.
People are buying strong locks for their doors and installing
heavy iron bars across their windows to prevent burglaries.
Some citizens are even purchasing guns to protect themselves and
their property. Indeed, it seems that the increase in crime is
turning the average home in Chicago into a prison for its inhabi-

tants.

Exercise 3 : Coherence
Arrange the following sentences in order so that they form a co-

herent paragraph.



Paragraph 1

a. For one thing, individual 1. Q. scores vary considerably.

b. Many experts also question whether 1. Q. scores are re-
lated to intelligence.

c. Furthermore, most psychologists agree that intelligence
tests are biased ({f§[n]) in favor of middle-class children.

d. The validity of standardized intelligence tests is being se-
riously questioned by educators and psychologists.

e. In fact, motivation seems to be just as important as intel-

ligence in determining a person’s ability to learn.

Paragraph 2

a. If there had been a big storm on the day of a baby’s
birth, the baby might have been named Thunder Cloud.

b. American Indian names are very descriptive, for Indians
were usually named for a physical attribute, for an occur-
rence in nature, or for an animal.

c. Grey Eagle, Red Dog, Big Bear, and Spotted Wolf are
examples of Indian names after animals.

d. Indians with distinctive (Jii#%1¥)) physical characteristics

might be given names such as Big Foot or Crooket Leg.

Paragraph 3
a. Later on, people began to write on pieces of leather,
which were rolled into scrolls (F).
b. In the earliest times, people carved (%)) or painted mes-
sages on rocks.
¢. In the Middle Ages, heavy paper called parchment was
used for writing; books were laboriously copied by hand.
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d. With the invention of the printing press in the middle of
the fifteenth century, the modern printing industry was
born. .

e. Some form of written communication has been used

throughout the centuries.

. GIFR 13

Exercise 1 :
1. ZBHAE 8. E—0EKRAR TEREN DO, BOEN
progress, HMFRELT -EHMOBEAERFGERS S £ LK
1 1

cancer patients # ¥ 8 %: few (1900s) — = (1930s) — y

(19505) =5 Currently). W BRI TS EAFRE T B
.L>: Progress is gradually being made in the fight against cancer,

2. ZBEBZ 8. i =M T ARESRAELE I B
IS, AR FWEFiE VX —F, FENSERFR EIOE
BT %S

Exercise 2 :

1. BB G-—%]: Sugar cane and pineapples are also 1m-

portant industries in Hawaii,

2. Small cars are inconvenient and uncomfortable. .. trunk

space. % a][6| Bt¥% #.{> (the convenience and economy of small
cars) Xfir. RAHER.

3. The chief of police was fired last month because of his in-
ability to reduce crime. ZA)[R]S—4)iE (BEF.L) TGk, N
13

Exercise 3 :
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